Самостоятельная работа.
Вариант 1.

№1. Сравните:
а) -4931 и -3578

б) -3672 и -7403

в) 19 и 0

г) 0 и -1939

д) -273 и 2

е) -1999 и -1998

№2. Вычислите:

а) 34+(-14)=

б) -16+(-23)=

в) 71+(-82)=

г) -24+(-49)=

д) -95+116=

№3. Вычислите:

а) -849+685=

б) -5124+(-6878)=

в) 356+(-129)=
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Вариант 2.

№1. Сравните:

а) -9563 и -8112

б) -1234 и -3456

в) 0 и 1962

г) -1932 и 0

д) 6 и -679

е) -7321 и -7320

№2. Вычислите:

а) 69+(-18)=

б) -29+(-11)=

в) 25+(-36)=

г) -69+(-38)=

д) -83+121=

№3. Вычислите:

а) -328+513=

б) -3071+(-9666)=

в) 504+(-1278)=
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